
Mayer-Victoris Sequence 2/7/24

Questions :

Proposition : Let X be a topological space. FIX AcX and
endow A with the subspace topology.
Then

, the Inclusion function
-

: A -> X
a + a

is continuous.

Proof : Need to show open UcX , i'(U) is open

wei (n) = Ea +A(i(a) = U3
- Eat A s . t. a + U3
- An U

By defn .

of subspace topology , i'(U) is
thus open (in A) .

astTime : => fig have same coldomain X -> Y
K homotopic

and are its
.

Fact : If fug ,
then f = 9 *

- ↑ induced maps on
7 H : X X [0 , 17 -> Y (ts s . t

. homology
H- , 0

= f
H(-

, 1) = g
- homotopy equivalentL

Corollary : If X = Y
,
then Hn(X ; A) EHn(Y ; A)

(for all n = O
,
Al

A homotopy equivalence is a continuous function
f : X + Y S .

t. 79 : Y+ X Continuous for which

fguid , gf vid

Example : pt FIRM
Su-1/2" 303

Today :

Fact : Un
,
A
,
Hn(0 ; A) =O = 503 = Ee3

strivial abelian group)

Warm-up : Fix two subsets U
,
U <X

Havects. functions :
-

In : U - X
,
iv : V-> X

ju : UnV-> U
- Ju : UnV- V

(UnvEU)








